Genetics Practice
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1. For each genotype, indicate whether it is heterozygous (HE) or homozygous (HO)
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2. For each of the genotypes below, determine the phenotype.
Purple flowers are dominant to white flowers Brown eyes are dominant to blue eyes
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Round seeds are dominant to wrinkled Bobtails are recessive (long tails dominant)
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3. For each phenotype, list the genotypes. (Remember to use the letter of the dominant trait)
~Straight hair is dominant to curly. Pointed heads are dominant to round heads.
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4. Set up the square for each of the crosses listed below. The trait being studied is round seeds (dominant) and

wrinkled seeds (recessive)
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What percentage of the offspring will be round? _-
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What percéntage of the offspring will be round? 7§ j d
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What percentage of the offspring will be round?

Practice with Crosses. Show all work! _
5. ATT (tall) plant is crossed with a tt (short plant). > J T
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What percentage of the offspring will be tall? _/ ( ]g 2
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6. A Tt plant is crossed with a Tt plant. 22/76 J/ / + ; +

What percentage of the offspring will be short?
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7. A-heterozygous round seeded plant (Rr) is crossed with a

homozygoua@ed plant (RR).
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What percentage of the offspring will be homozygous (RR)? ‘50




